This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Clarkston-Netherlee and Williamwood

10,203

4

2,041

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andrea GEE	Scottish Conservative and Unionist	1,580
Sarah Louise HEMY	UKIP	20
Annette IRELAND	Scottish National Party (SNP)	1,508
Alan LAFFERTY	Labour and Co-operative Party	986
David MACDONALD	Independent	1,352
Alex MACKIE	Scottish Liberal Democrats	195
Stewart MILLER	Scottish Conservative and Unionist	1,715
James MILLS	Scottish National Party (SNP)	809
Mary MONTAGUE	Labour and Co-operative Party	692
Ralph ROBERTSON	Independent	995
Laura STEVENS	Scottish Green Party	351
	Total	10,203

This report contains the transfers results.

Stage 2 - Exclusion of Sarah Louise HEMY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	5	1.00000	5.00000
Transfer to Annette IRELAND	1	1.00000	1.00000
Transfer to Alan LAFFERTY	3	1.00000	3.00000
Transfer to David MACDONALD	2	1.00000	2.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	4	1.00000	4.00000
Transfer to James MILLS	1	1.00000	1.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Ralph ROBERTSON	0	0.00000	0.00000
Transfer to Laura STEVENS	1	1.00000	1.00000
Value of non-transferable ballot papers			3.00000
	Total		20.00000

This report contains the transfers results.

Stage 3 - Exclusion of Alex MACKIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	13	1.00000	13.00000
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	12	1.00000	12.00000
Transfer to Alan LAFFERTY	29	1.00000	29.00000
Transfer to David MACDONALD	37	1.00000	37.00000
Transfer to Stewart MILLER	15	1.00000	15.00000
Transfer to James MILLS	3	1.00000	3.00000
Transfer to Mary MONTAGUE	25	1.00000	25.00000
Transfer to Ralph ROBERTSON	17	1.00000	17.00000
Transfer to Laura STEVENS	26	1.00000	26.00000
Value of non-transferable ballot papers			18.00000
	Total		195.00000

This report contains the transfers results.

Stage 4 - Exclusion of Laura STEVENS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	6	1.00000	6.00000
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	113	1.00000	113.00000
Transfer to Alan LAFFERTY	30	1.00000	30.00000
Transfer to David MACDONALD	48	1.00000	48.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	4	1.00000	4.00000
Transfer to James MILLS	70	1.00000	70.00000
Transfer to Mary MONTAGUE	44	1.00000	44.00000
Transfer to Ralph ROBERTSON	32	1.00000	32.00000
Value of non-transferable ballot papers			31.00000
	Total		378.00000

This report contains the transfers results.

Stage 5 - Exclusion of Mary MONTAGUE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	20	1.00000	20.00000
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	37	1.00000	37.00000
Transfer to Alan LAFFERTY	488	1.00000	488.00000
Transfer to David MACDONALD	66	1.00000	66.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	24	1.00000	24.00000
Transfer to James MILLS	25	1.00000	25.00000
Transfer to Ralph ROBERTSON	66	1.00000	66.00000
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			35.00000
	Total		761.00000

This report contains the transfers results.

Stage 6 - Exclusion of James MILLS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	4	1.00000	4.00000
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	729	1.00000	729.00000
Transfer to Alan LAFFERTY	37	1.00000	37.00000
Transfer to David MACDONALD	66	1.00000	66.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	10	1.00000	10.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Ralph ROBERTSON	16	1.00000	16.00000
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			46.00000
	Total		908.00000

This report contains the transfers results.

Stage 7 - Surplus of Annette IRELAND

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	43	0.14958	6.43194
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	0	0.00000	0.00000
Transfer to Alan LAFFERTY	522	0.14958	78.08076
Transfer to David MACDONALD	589	0.14958	88.10262
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	34	0.14958	5.08572
Transfer to James MILLS	0	0.00000	0.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Ralph ROBERTSON	325	0.14958	48.61350
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			132.68546
	Total		359.00000

This report contains the transfers results.

Stage 8 - Exclusion of Ralph ROBERTSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	1	0.14958	0.14958
Transfer to Andrea GEE	132	1.00000	132.00000
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	0	0.00000	0.00000
Transfer to Alan LAFFERTY	34	0.14958	5.08572
Transfer to Alan LAFFERTY	135	1.00000	135.00000
Transfer to David MACDONALD	174	0.14958	26.02692
Transfer to David MACDONALD	504	1.00000	504.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	5	0.14958	0.74790
Transfer to Stewart MILLER	137	1.00000	137.00000
Transfer to James MILLS	0	0.00000	0.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			234.60338
	Total		1,174.61350

This report contains the transfers results.

Stage 9 - Surplus of David MACDONALD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrea GEE	20	0.01012	0.20240
Transfer to Andrea GEE	247	0.06766	16.71202
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	0	0.00000	0.00000
Transfer to Alan LAFFERTY	302	0.01012	3.05624
Transfer to Alan LAFFERTY	507	0.06766	34.30362
Transfer to David MACDONALD	0	0.00000	0.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	21	0.01012	0.21252
Transfer to Stewart MILLER	313	0.06766	21.17758
Transfer to James MILLS	0	0.00000	0.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Ralph ROBERTSON	0	0.00000	0.00000
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			72.46516
	Total		148.12954

This report contains the transfers results.

Stage 10 - Exclusion of Andrea GEE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah Louise HEMY	0	0.00000	0.00000
Transfer to Annette IRELAND	0	0.00000	0.00000
Transfer to Alan LAFFERTY	9	0.01012	0.09108
Transfer to Alan LAFFERTY	20	0.06766	1.35320
Transfer to Alan LAFFERTY	6	0.14958	0.89748
Transfer to Alan LAFFERTY	118	1.00000	118.00000
Transfer to David MACDONALD	0	0.00000	0.00000
Transfer to Alex MACKIE	0	0.00000	0.00000
Transfer to Stewart MILLER	5	0.01012	0.05060
Transfer to Stewart MILLER	127	0.06766	8.59282
Transfer to Stewart MILLER	14	0.14958	2.09412
Transfer to Stewart MILLER	1,381	1.00000	1,381.00000
Transfer to James MILLS	0	0.00000	0.00000
Transfer to Mary MONTAGUE	0	0.00000	0.00000
Transfer to Ralph ROBERTSON	0	0.00000	0.00000
Transfer to Laura STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			271.41664
	Total		1 702 40504

Total 1,783.49594